Mounting Brackets

E39-L

Slits/Reflectors

E39-S/E39-R

Mou nting Brackets [Rrefer to Dimensions on page 5]

CSM_EB39-L_F39-L_E39-S_E39-R_DS_E_15_2

. Accessories Applicable sensor Page
Model F|tt|r_|g Count (mounting pitch on
materials Description Material Count sensor side) Dimensions
. . Slotted/Phillips screws, M3 x 12 . . g
E39-L31 Iron, zinc plating 1 (with spring washers) Iron, zinc plating 2 E3C-S50 (8)
Phillips screws M4 x 25 Iron, zinc plating 2
E39-L40 Iron, zinc plating 1| (with spring and plain washers) E3JK
Nuts M4 Iron, zinc plating 2
Phillips screws M3 x 14 Iron, zinc plating 4 5
E39-L41 Iron, zinc plating 2 | (with spring washers) E3C-1 (10)
Plain washer M3 Iron, zinc plating 4
Phillips screws M3 x 10 Iron, zinc plating 4 E3C-2 (20)
Iron, ) . E3C-DS10 (19)
E39-L42 black coating 2 | (with spring washers) . . E3C-VS1G (19)
Plain washer M3 Iron, zinc plating 4 E3C-VS3R (19)
" Stainless steel Slotted/Phillips screws M3 x 8 ; E3Z pre-wired model
E39-L43 (SUS304) 1 (with spring and plain washers) Stainless steel (SUS304) 2 (25.4)
" Stainless steel Slotted/Phillips screws M3 x 8 ) E3Z pre-wired model
E39-L44 (SUS304) 1 (with spring and plain washers) Stainless steel (SUS304) 2 (25.4)
Slotted/Phillips screws M4 x 30 Iron, zinc plating 2
E39-L51 Iron, zinc plating 1 (with spring and plain washers) E3JM (40)
Nuts M4 Iron, nickel plating 2 6
E39-L53 Iron, zinc plating 1 --- - --- | E3JM (40)
Stainless steel
E39-L54V (SUS304) 1 --- | E32-T54V
: E32-T24S
E39-L83 Stainless steel 1 = | E32-A03
Stainless steel Hexagonal bolts M4 x 12 . .
E39-L85 (SUS304) 1 (with spring and plain washers) Iron, zinc plating 2 E3S-C (25.4) ,
Stainless steel Hexagonal bolts M4 x 12 ) )
E39-L86 (SUS304) 1 (with spring and plain washers) Iron, zinc plating 2 E3S-C (25.4)
" Stainless steel Hexagonal bolts M4 x 12 : ’ ]
E39-L87 (SUS304) 1 (with spring and plain washers) Iron, zinc plating 2 E3S-C (25.4)

Note:

OMmRON

Applicable models that appear shaded come with the Mounting Brackets at left as accessories.

sales@prom-elec.com

[TpOoManeKTPoOHNKa



magic


E39-L/E39-S/E39-R

Fitting Accessories Applicable sensor Page
Model terial Count - . (mounting pitchon [
materials Description Material Count sensor side) Dimensions
Stainl ool Holder (upper) Heat-resistant ABS resin 1
E39-L93FH (Sﬁgggi)s ee 1 Holder (lower) 66 nylon 1
Pipe Stainless steel (SUS304) 1
Stainless steel Bolts M4 x 12 with Hexagonal Iron, nickel plating 2
E39-L93FV (SU'SSO 2 1 |holes
Bolts M4 x 30 with hexagonal Iron, nickel plating 1 E3Z (25.4) 8
Stain el holes E39-R1/E39-R3
E39-L93H amess stee 1 | Phillips screws M3 x 12 Stainless steel (SUS304) 2
(SUS304) h . f
(with spring and plain washers)
Stainl | Spring washer M4 Iron, nickel plating 1
E39-L93V (Stﬂgggz)Stee 1 Plain washer M4 Iron, nickel plating 1
Nuts M4 Iron, nickel plating 3
Holder 66 nylon 1
_ __ | Pipe Stainless steel (SUS304) 1 E3Z (25.4)
E39-L33xXY Bolts M5 16 with hexagonal holes | Stainless steel (SUS304) | 2 | E39-R1/E39-R3
Nuts M5 Stainless steel (SUS304) 2
. . ) Phillips screws M3 x 10 Iron, zinc plating 4 E32-T16P (19)
E39-L94 Iron, zinc plating 2 Nuts M3 Iron. zinc plating 4 E32-T16PR (19)
E39-L96 9
* Forinstallation ; i
Stainless steel Phillips screws M3 x 6 . .
of Sensor 1 . . . Iron, nickel plating 2 E39-R1
Adjuster E39- (SUS304) (with spring and plain washers)
L93
_ Stainless steel Slotted/Phillips screws M3 x 12 . E3Z pre-wired model
E39-L98 (SUS304) 1 (with spring and plain washers) Stainless steel (SUS304) 2 (25.4)
_ Stainless steel Hexagonal bolts M4 x 12 ’ ) E3S-C (horizontal type)
E39-1102 (SUS304) 1 (with spring and plain washers) Iron, zinc plating 2 (25.4)
_ Stainless steel Hexagonal bolts M4 x 12 ) ) : .
E39-L103 (SUS304) 1 (with spring and plain washers) Iron, zinc plating 2 E3S-C (vertical type) (25.4)
- 10
E3Z pre-wired model
Stainless steel Slotted/Phillips screws M3 x 8 . (25.4)
E39-L104 (SUS304) 1 (with spring and plain washers) Stainless steel (SUS304) 2 E32-R21 (for installation of
E39-R3) (25.4)
Stainless steel .
E39-L116 (SUS304) 1 Nut plate Stainless steel (SUS304) 1 E3T-S (9/15)
Stainless steel .
E39-L117 (SUS304) 1 Nut plate Stainless steel (SUS304) 1 E3T-S (9/15)
Stainless steel .
E39-L118 (SUS304) 1 Nut plate Stainless steel (SUS304) 1 E3T-S (9/15)
E3o-L119 | Gaess stee 1 — | E3T-F (8)
Stainless steel "
E39-L120 (SUS304) 1 --- | EBT-F (8)
. ) Phillips screws M2.3 x 8 Iron, zinc plating 4
E39-L127-T1 | Iron, zinc plating ! Spring washer M2.3 Iron, zinc plating 4
. ) Phillips screws M2.3 x 8 Iron, zinc plating 4
E39-L127-T2 | Iron, zinc plating 1 Spring washer M2.3 Iron. zinc plating 4 E3C-S10 (7.5)
. . Phillips screws M2.3 x 8 Iron, zinc plating 4
E39-L127-T3 | Iron, zinc plating ! Spring washer M2.3 Iron, zinc plating 4
Note: Applicable models that appear shaded come with the Mounting Brackets at left as accessories.

OMmRON




E39-L/E39-S/E39-R

- Accessories Applicable sensor Page
Model g Count . . (mounting pitchon [~
materials Description Material Count sensor side) Dimensions
Slotted/Phillips screws M4 x 25 Stainless steel (SUS304) 2
E39-L131 Stainless steel 1 Spring washer M4 Stainless steel (SUS304) 2 E3G-R1[] (25)
(SUS304) Plain washer M4 Stainless steel (SUS304) 2 E3G-L70] (25)
Nuts M4 Stainless steel (SUS304) 2
Slotted/Phillips screws M4 x 25 Stainless steel (SUS304) 2
E39-L132 Stainless steel 1 Spring washer M4 Stainless steel (SUS304) 2 E3G-R1[1 (25)
(SUS304) Plain washer M4 Stainless steel (SUS304) 2 | E3G-L70J (25)
Nuts M4 Stainless steel (SUS304) 2
Slotted/Phillips screws M4 x 35 Stainless steel (SUS304) 2
E39-L135 Stainless steel 1 Spring washer M4 Stainless steel (SUS304) 2 E3G-MR19 (T)
(8US304) Plain washer M4 Stainless steel (SUS304) 2 | E3G-ML79 (T)
Nuts M4 Stainless steel (SUS304) 2 12
Slotted/Phillips screws M4 x 35 Stainless steel (SUS304) 2
E39-L136 Stainless steel 1 Spring washer M4 Stainless steel (SUS304) 2 E3G-MR19 (T)
(SUS304) Plain washer M4 Stainless steel (SUS304) 2 E3G-ML79 (T)
Nuts M4 Stainless steel (SUS304) 2
X ) .
E39-L142 (SS“'(‘J'g'ggj)Stee' 1 (Svlv?ttr:egéﬁ:gl'gr?dsgziv,:swhg:hefs) Stainless steel (SUS304) 2 (EZSSZA‘;'G wired model
E3X-DA-S/MDA
Stainless steel ESX-NA
E39-L143 (SUS304) 1 None --- | E3C-LDA
E2C-EDA
E4C-UDA
X ) .
Eao-L144 | Semessstedl | [ SlotedPhillps screws M3 12 grainiess steel (sUS304) | 2 | ESZfrewired mode
E39-L148 (Sstﬂg'ggjftee' 1| None — | E3X-NA
E39-L149 |0 coating 1| None E3Z-G
Holder/bracket PBT (polybutylene tereph- 1
thalate)
- Shaft (brace) Stainless steel (SUS304) 1 E3Z (25.4)
E39-L150 (Stfjlglggz)steel 1 Bolt with hexagonal hole Stainless steel (SUSXM7) 1 E3S-R6L1/R8L (20)
Nut Stainless steel (SUS304) 1 E39-R3
Phillips screw Stainless steel (SUSXM7) | 1 13
Slotted/Phillips screws Stainless steel (SUS304) 2
Holder/bracket PBT (polybutylene tereph- 1
thalate)
Stal Shaft (brace) Stainless steel (SUS304) 1 E3Z (25.4)
E39-L151 ( S‘fJ'g'ggZ)Steel 1 | Bolt with hexagonal hole Stainless steel (SUSXM7) 1 | E3S-R6LI/R8II (20)
Nut Stainless steel (SUS304) 1 E39-R3
Phillips screw Stainless steel (SUSXM7) 1
Slotted/Phillips screws Stainless steel (SUS304) 2
E39-L153 Stainless steel 1 Slqtted/P_hiIIips screws M3 x 8 Sta@nless steel (SUSXM7) 2 E3Z pre-wired model
(SUS304) (with spring and plain washers) Stainless steel (SUS304) (25.4)
E39-L166 (Ss‘ﬂg'ggj)“ee' 1 | Nut plate Stainless steel (SUS304) 1| E3T-SCITM (13/16)
Stainless steel 14
E39-L167 (SUS304) 1 --- | EBT-FDOIOM (8)
PBT (polybutylene
E39-L168 rere p(hpthgl ot 63)’ 1 — | E3T-FDOIOM
E39-L180 (Sstgglggz)steel 1 Zzltllg;ztzcrew Stainless steel ? gil IEB?gODD 15
Stainless steel Phillips screw ) 2 ZX1-LD3000]
E39-L181 (SUS304) 1 Nut pﬁate Stainless steel 1 ZX1-LDB00L]
Note: Applicable models that appear shaded come with the Mounting Brackets at left as accessories.

OMmRON




E39-L/E39-S/E39-R

Slits
Model Slit width Installation procedure Applicable type
) E3JM-10014 (T)-N
E39-S39 Width 1 x 20 mm Seal type E3JK-50101-N
E39-S61 Width 0.5, 1,2, 4 x 11 mm E3S-CT[N
E39-S63 0.5-mm dia., 1 mm E3T-ST1[]
E39-S64 0.5-mm dia., 1 mm E3T-FT10J
E39-S65A 0.5 mm dia.
E39-S65B 1-mm dia. Plug-in type
E39-S65C 2-mm dia.
E39-S65D Width 0.5 x 10 mm EsZ-THH
E39-S65E Width 1 x 10 mm
E39-S65F Width 2 x 10 mm
) E32-T16P
E39-S68 Width 0.5, 1 x 13.4 mm Seal type E32-T16PR
E39-S76A 0.5-mm dia. .
E39.576B 1o dia. Plug-in type E3T-STCIM
Note: Applicable models that appear shaded come with the Slits at left as accessories
Reflectors (refer to Dimensions on page 16.)
Non-fogging Special Reflec-
SRS HEIEE S reflective plate s tor for E3ZM-B
Item Model E39-R1 ] E39-R1S E39-R1K E39-R2 E39-R6 E39-R10 E39-RP1
Directional angle 30° min. *1 30° min. 2 30° min.
Ambient operating . o _ o
temperature range 25 t0 55°C 40 to 60°C
Ambient storage o _ o _ 5
temperature range -40t0 70°C 40 to 55°C 40 to 70°C
Ambient operating
humidity range 35% to 85% 35% to 95% 35% to 85%
Ambient storage
humidity range 35% to 95%
Degree of protection IEC IP67
Accessories -
*1. 40° or higher for E3JM-R and E3JK-R.
*2. 40° or higher for E3G-R.
Name Small reflector Tape reflector *
N E39-RS1 E39-RS2 E39-RS3
Item Model E39-R9 E39-R3 E39-R4 E39-R37-CA E39-RS1-CA E39-RS2-CA E39-RS3-CA
Directional angle 30° min.
Ambient operating o
temperature range —251055°C
Ambient storage o 5
temperature range —401070°C 010 40°C
Ambient operating
humidity range 35% to 95% 35% to 85%
EblentiEloig08 35% to 95% 35% to 85%
humidity range
Degree of protection IEC IP67
Mounting Brack- Phillips screws M3
Accessories - ets E39-L104 X 3, spring wash-
(with screws) ers M3, nuts M3
* Models ending in the suffix “-CA” are reflectors only for E3T-SR4[1.
Name Laser Reflectors
Short-distance transpar-
Standard ent object detection Sheets
ltem Model E39-R12 E39-R13 E39-R14 E39-RS4 E39-RS5
Ambient operating 10 to 55°C (No icing)
temperature range
Ambient storage 5 -
temperature range 2510 70°C (No icing)
Ambient operating )
humidity range 35 to 85% (No condensation)
Ambient storage )
humidity range 35 to 85% (No condensation)

OMmRON




Mounting Bracket Dimensions

E39-L/E39-S/E39-R

Unit: mm
Tolerance class IT16 applies to dimensions in this datasheet unless otherwise specified.

E39-L31 E39-L40
Four, R1.6
3.2 18+0.1
i J R32  6dia. R3.2
T 17 . | | .
10.5 1 l N, T T ¥
LT T
b 1 & EP—“P ¢1z 22
4*.2 LH-32 10:0.1 |
3.9 b ea
\@,@) |6~ 4-»149 6.4
6] Two, R
= 2= 6 3.9 wo.Rs T, 42101 7
Material: Iron *Hk 42 |l 3o
I
1(;5 \ w 5 [+——— 50 —>| Two, R5
. ¥ inl
1 17 Material: Iron e 40101 — ] 5
—H— 4:7 l ‘
32 O -f- e
| |
F—12— Two, 4.4 dia.
””””””””””””” Two, R5.6 Two, R5 Two, R5
60
R3 [+-8- Two, M3 Y NN
N i 31.2 i
O C é 21.9
4.5 dia. max. \ I % 60° '
Pushing out height: 0.6 min. j—' e = %
1 R22 |, o4 144
10°
58
E39-L41 E39-L42
R1.6
; — R1.6
7 L ! 55 32 T | T
] 11 8 | / 6.5
L i : N 12
’ U
32 5] 4, C |
1 135~ sl I
L5 23
ﬁ 32 ‘ Rig 22 27
S Iy ‘
i = —f- w 1 45 R16 32
Material: Iron 15 1T0 15.5 32 ™ ]
[
. | F . i
I 175 Material: Iron f ‘ T o1
77777777777777777777777 17 151.5 L
" |
R3 10501 5 s :

4.5 dia. max.
Pushing out height: 0.6 min.

1

OMmRON




E39-L/E39-S/E39-R

E39-L43 E39-L44 \
30 %
35 3.5 3 re ||
N S 7 [—16.2 -]
J )
;S | S 23.2—+
| 1.2 1.2
Four, 3.2 dia. 254 40 i
,4(? (+) 32
- i . X .2 dia.
! * Material: Stainless 36
7.5 20° steel (SUS304)
Y ﬁ | 3415 a2
0 i
Material: Stainless R0 }
steel (SUS304) ‘ >}/4 L Jrk
13| R1 645 /
8.4 R1 L— 31.2 —
3.4
E39-L51 E39-L53
[+— 35.5 —=| 6.5 |« 20—~ TWO, 3 dia. R3.2
3 T % i
I o7 [m])
12 A+
E;w I {7 + + +H 124 22
2 ﬂ 45 e / % ‘r;‘k }
4 i N
ﬁ OA5, OA-5N| 6 R3.2 6 dia. T 6.4
2 ! 12.4 18 6
IS * ~——39.5—
ﬁﬁﬁ rfszs—» Material: Iron
i 1.6 35—
aﬁk 45 4.5 dia.
Material: Iron ' * R2.25 7
EGAZ,‘ OASN 13.5 M E GB 6.5 T
| H 29.5
70 E3A-M, OA-5 " #—2’0; l
E3A3 ! ' iml
! 5 40+0.2 —
‘ 54.5
— i
58
E39-L54V
i 4.5~ «8»‘
1
: : -1- ‘ — 41
Material: Stainless steel (SUS304) I T i
4 —J 23 15 —{—+
[ l \E
o —4.1

OMmRON




E39-L/E39-S/E39-R

E39-L83 E39-L85 [+9.8~—15.6—
|
\
i yam— am— o
.04 Six, R1.2 E, | < T € T (44.7)
N T~ AN M~ 0 oL [ —15
2} o NN
b X g i
= N =
as) ] Two, R1.6 } | ! d
>y »12.9»‘ 26
- S 16—
R1.6 0‘ ’ 31
Material: Stainless steel 28 3.2 43.8
(SUS304) 10—
‘<—19—»
j ET 289 322
15 ‘ 151
— ol o |
T
E39-L86 E39-L87 oo
1 177 10
9.2 14.2
41
25.4
o i
2.6
i T4.2
oI 0T *
J [T
4.2
3224 2 o
4.2 l b—25 ——
12.4
N LY E nzz - oy
Material: Stainless steel (SUS304) 1142 : N e2 ’_@2
12.9-1 ain 72] A
31 A\ : Y }
43.8
31 p 25.4
15 4{%129’ .
T I Material 1 ‘8 <
B n T aterial: 75.6
= T 9;2172 Jo Stainless steel (SUS304)
4.2
: = = ! J 437
Q | | n jul
‘ ‘ 26
15—+

OMmRON




E39-L/E39-S/E39-R

E39-L93FH E39-L93FV
26.3 26.3
209 20.9
¢ ‘ | |
» E3Z ? E3z
E
12 dia. 208 12 dia.
215
183 188 176 181
) I
l (e[
12 |
le—35 —»| Two, 6.6 dia.
le— 50 —|
53 }—ﬁg @
29 D
l '
E39-L93H E39-L93V
}
8
f | ESZ
. 12 dia.
216 ‘ 12 dia. 208
‘ 176 181
Il iy i
i i ?‘gﬁf 1
,@T 24 * V-: q_ U 49
i ‘ | = L —eblds | CcHil
8 ‘ 10 ‘
o2 Two, 6.6 dia.
46
Two, 6.6 dia. |
o i
] [ ] A frﬁ#ﬂi
14
le—32 ]

OMmRON




E39-L/E39-S/E39-R

E39-L93XY E39-L94
4 Four,R1.6
197 A7 a8
165 8 I
/ 204
2 | 35
4l l
F olllno
2? Pipe (B) By
sTs i ? 20
15 12 o
el e Two, R1.6
32 28 7 .
w e Al —— 5,8
H
Holder (o) [ 0 J S 19102
0 I o 52
Material: Iron /
3.2 dia.|_p _|_ g
aE E39-L96
: Two, M3 Tap processing
E 213 U 4.3 dia.
189 L
v el T
| w 4Ll
it er
1k E39-R1 reflector g s ™ Center
(order separately) |~ _ [15.5 £ ol
12 dia. 295 greﬂ:()ee
e Material:
Stainl teel
Note: The E39-L93XY consists of only the one joint holder (Sﬂggg‘s‘)s e
(A) and pipe, and the two hexagonal bolts and nuts. It rth
2-mme-thick
cannot be mounted to the Sensor alone.
E39-L98

Mounting Holes

0°,1.30°
Two, M6 N
Two, Fii8<
1 4402 T T T 56 dia.
l
. 82 Four, R3.3 Two, R22
- *# 4 6.5
I (For E3S-B)
i (For E32) I'—“ -h (For E3S-R)
An attached ‘ f |
screw X 1 9 20
61 T L3/ ) 251 4 s
385 8
l { 25
X e s ‘ ‘

- 16 * .
o T o]
56 (24—

* Mounting Bracket can be attached to side (A)
Material: Stainless steel (SUS304)

OMmRON




E39-L/E39-S/E39-R

E39-L102 054 E39-L103
f—25.440.1—~ f——3140.1——|
= = 42 } =) f
| 12 =
02 C L fe20 o2 | —n| % 2I0
a d f J i 1 ‘ —
) T2z ] 42 U
@ o = 8.3 4.2
o / g.g k12.9+
1.5 e k12,94
~f- Tlao (83 lﬁi 4ol
\
Material: ! 4 T ‘ O H ‘[
t 92 i =N
Stainless steel (SUS304) <H> ‘ b -4 4*2 9?311'3 Material: 52 l | 120
— = Stainless steel (SUS304) ! 4.2 0 = 1? l
—25.4+0.1—| i
38.2 3101 —|
43.8
E39-L104
Jj7 R1.7 34 |
T ’ I
4 1% : = 5 145 (137)
' T—’\ R20 [
| R1 % 6 45
Lze—»
% - 1.2
. R3.5 |«—16—+|Two, 3.2 dia.
e S !
Material:
Stainless steel
(SUS304)

OmRON




E39-L/E39-S/E39-R

E39-L116 E39-L117
Nut Plat
ut Flate ' Nut Plate (Four, R2) !
(Two, R1.7) !
31
Three, Three, g) | |
M2 a M2 L] ¥ 15205!
7:I:Two, 3.4 T L ! R
{?,7 : max. T
(Two, R2) : 90 i
77777777777777777777 (Two, R2) A ~H-1.2
(Two, R1.7) Two, R2 (Two, R2) 5 4
foo Ny T
1) 4
B a -
(Two, R1.1) L } 11T 51L T ?
T 11518 (23)15 1S I
LU T el
Material: Material: R f*‘k ; !
Stainless steel (SUS304) Two. R1.2 Stainless steel (SUS304) 3.1 N
1.2-mm-thick (ZZVO’ 2| 1 o-mm-thick 34~HEN o R17) 5ot TWo 22
R1.5 max. 12 o 45 530l \(Two, R1.1)
(11.2)
E39-L118 E39-L119
Nut Plate
(Four,R2) ! s ~e1.2
e a—
st o f A 105 99
Three ! 1115 | 90 12 1
’ 9 ! ! 90° —
M2 } 15205 4 [ 15
; fe—— 22,7 — Four, M2 Tap processing
| g =l >—+3.2
L—»7 ! 5 (Two, R1.7) - . 24
] %2.4 w4'5¢31 T f i i i T
. T LA 16 12 kil f Y i
1 R e
I 9 i h i
E T 15 T S5 | 1151803 b9 eyl 24
i 9 i
A | o AN
. LY Al . .
Material: Two, 2571 ] 31 Material:
Stainless steel (SUS304) (Two,R1.1)" 5 3.4 (Four, R2) Stainless steel (SUS304)
1.2-mm-thick 1.2-mm-thick
E39-L120 E39-L127-T1
Four, 3.2 dia.
is E39-L127-T2 (Mouning.
1 1 T E39-L127-T3 20 bracket holes)
‘ ™\ 5.4 |
| S : § s
* { % 10
14 1.2 I —
205 ! Four, M2.3
z 1.6 el 2——A— 56 (I\C/I)gLnt;ng sensor
N | |+ SCrews
Four, M2 Tap processing i ‘ {)} i 53
8 *’—«3.2 7.5
"7 % 4“ quiam ~ 24 o) v 15
\ : f 30
R | ) o
16 12 \ jt + i 13 {? £ g
l b1 E ! }
T : 24 Two, 5 dia. l— 20—
6 85— Material: Iron A+24
Material: Stainless steel (SUS304)
1.2-mm-thick Model Dimension A (mm)
E39-L127-T1 10
E39-L127-T2 20
E39-L127-T3 30

OMmRON




E39-L/E39-S/E39-R

E39-L131 E39-L132
6.4 I
Two, R3.2 l—22 55 11:*:'?
" \ﬁ 1.5 90°s1"
/u 5] T —t—
v 115
15° J£ *‘ = ‘ 7;‘7' 23.5
64 23,5~ —23.5
R 2R32 _ 15 |10 Ro2 11,5/~
35— 644 " Two, R2.2 8.5
15 " zszo.wtdf Four. R1 e | T
s T - 10, ¥ N
= o B b j— —d
AN 22 | | 44 ‘
R25 R25 25:01 } I 25:01 45
4.2 4.2 l b l E
n 65.5 G
Four, R2.1 ‘ 64 R34 Py
- O X » 1a.
i%%. | 355 Two, R3.2 g
Material: ~ggost 235
Stainless steel (SUS304) Y O o 8.5 Material: Stainless steel (SUS304)
‘ *
45
E39-L135 T E39-L136
Il
— : = . ‘
, IEXS -
18° ] + '\\ ] 28 \‘ S
| l 90°:1
S|
}:{44/'r ! 32 77# Two, R3.2
2 48
T 3701 4,‘ Two, 4.2 dia.
] 72
Eight, 4.2
74+0.1
118 123 | |
l R3.2 (
Material: t-\ i
Stainless steel (SUS304) 54.62 6.4 R82.7
; 50
b
90°:1° Lﬂsu\
& \‘; ) ] ] 20 Fourteen,
e R2.1
58 Material: Stainless steel (SUS304)
E39-L142 e E39-L143
- b7
T
< g 15.8 22—
- : l«14~| | Four, 3.4-dia. holes
1 il S —
| T 4 Bl
Y o 2.$5 16— 3
37 25.4 T -
P 3 55 . B 73 % {} T
c..-J 7 1B o9 26.8 ——| -7
J - — __ [P 45153 Two, 3.2 dia
1 140 Il
¢ J/jﬁ,\j rz B P Roun Ri7
e 4. T b
15 5 *12»—5L 10310 max.[7 (=t i 34
Material: Stainless steel (SUS304) 4
Il 4 5 T T
‘ 3.4 1
‘ 37 8 Material: Stainless steel (SUS304)

OMmRON




E39-L/E39-S/E39-R

E39-L144
Two, R17
Two, 50°
==
2
i

25—+

Material: Stainless steel (SUS304)

3.5

Four, R1 .6\_

T

254 wo, R25.4

E39-L148

R1.7

f‘
2

Two, 3.2 dia.

15
L e

A %ﬁ%_s =+

50 Material: Stainless steel (SUS304)
E39-L149 E39-L150
E39-L151 55 [~—20
4. =
5o 5 Two, 3.5
-13.6~ <7454~‘ Four, 4.5 dia. Polybutylene
‘ o . terephthalate ]
22.7
i i w YT 6.8
w25 24 —— 0P8 49 s Two, 3.5 dia. o
| i l {Fil 10 dia.
Stainless steel
oo s - (SUS 304)
Two, 6.5 dia. L -t8
ﬁ i
A —— g ‘
45 f———-———-—- — 1 21 @ I
! P L) 4 ; |
— PolybutyleneL Ll
% terephthalate 19
e 46—
Length (mm)
Model L
Material: Iron E39-L150 65
E39-L151 165
E39-L153 ok
o [
N
NN
Py .
ST 4 35
Two, R1.75 {=—4-3
4 ‘ Eight, R1.75
(V4
Four, 3.5 *ﬁ ; ‘T
zsl.4 a1
M’T{
1.2 =
22 .|

Material: Stainless steel (SUS304)

OMmRON




E39-L/E39-S/E39-R

E39-L166 |

fe—13.5 — 90°
4.5

3.4 3

14.5 _ _
3 ar

2
Material: Stainless steel (SUS304) ¥ I l l I [ :I_‘

1.2-mm-thick =17 T (12.6)

~—13.8 —™

— (15) —

8 With Mounting Bracket =10 —=+—85—~
4 (Example: ET-ST11M)
Three, M3 - 15—
3 ree 125 Two, M3 x 15
TN
e D (1O
16121-9 22 O — 23 i
; St o e
\Gy l v
- 1S

E39-L167

With Mounting Bracket
| | (Example: E3T-FD11M)

‘ 10.5
5 18 15 (105)
29 5 ]
Four, M3
T :
ap processing 10— 3.2
7% u ~N 2.4
St
‘ E
23.5 ! ;
Material: Stainless steel (SUS304) 17.5 f——’—— ——Jﬁfa(fﬂ,ff 145
1.5-mm-thick E |
|
|
I
I

17

OMmRON




E39-L/E39-S/E39-R

E39-L168

Material: Polybutylene terephthalate 14.8

287 1(1.8
¢ St
8.3
‘ L}
= (7.3) . .
16 Note: Use this Spacer when mounting the Sensor from the back.
E39-L180 E39-L181
1 |
i Nut plate | Nut plate
i
Mounting Brackets | ' !
i Two, M3 Mounting Brackets i T\é’vzb‘#
Two.Ra [ 413— ! P=0.5 5 |
: 32,1~ 48 ! I
117}~ ! -1 Two, R2 [ 424 6.2 |
i 155+ - !
! |
! |
N3.5 dia. ! 3
| ‘ 3 476 536 \4.5 dia. % 59.1 67.1
46.1 62 | }
} 57 I
J ! ‘ 76 i N
et i N
ST 1 ! ) i 8
.50 4° ‘ ! Material: ﬁf ! .
20~ ! Stainless steel W ! g/ltat_elrlal: el
| (SUS304) N | ainless steel
' 15-mm-thick ‘Zeibi 2 | (Sus304)
5 - ¥ . | 2.0-mm-thick
! y 12 - - t T
6;5 — ' p 12
st 3.5 Material: Stainless steel (SUS304) 7'?5 1T Material: Stainless steel (SUS304)
148 15 2.0-mm-thick 45  2.0-mm-thick
(21.7)-187 Accessories: Phillips screws (2) 45 Accessories: Phillips screws (2)
(M3 X 30, P=0.5, Stainless) 19.1 9 18.5 (M4 X 35, P=0.7, Stainless)
Nut plate (1) (27.6)— Nut plate (1)

OMmRON




E39-L/E39-S/E39-R

i i Unit: mm
ReerCtor d imensions Tolerance class IT16 applies to dimensions in this datasheet unless othe(rwise specified.
E39-R1 E39-R9
E39-R1S 30.9 x 30.9
E39-R1K *
423 T TIT
(21)
&) el |

Material «15»‘ Two L35

rezeegtli?/é surface: acrylic Material, ‘*32557' 36da. T2

Rear surface: ABS reflective surface: acrylic Material, - " 8

' Rear surface: ABS reflective surface: acrylic
Rear surface: ABS
f——40.3 — 80.8
Two, 8.5 dia. [~ 34— 75 Four, 3.5 dia. 745 75 | E39-R10

7 T , 7 7 AT x4

| ba
= i ]
8
59.9 52 L AR
59.9 52 jims 61.4 }
(30.4)
= ot e | ‘
1?6 #«2.7 ¥ F J‘FA ? LI ¥ J
——30—| HH—3.5
* E39-R1K only 6 7 27-He , % Two, 35
i i 6.5 34— Material 4 dia.
Coating on reflective surface 2 N . . 51.6 [P
reflective surface: acrylic 8
Rear surface: ABS
E39-R4 A E39-R6

Material,
reflective surface: acrylic
. Rear surface: ABS
Material, Material,
reflective surface: acrylic  5%° 1| ~T1 reflective surface: acrylic
Rear surface: ABS T Er 4] 137 Rear surface: ABS
7 |
T 18.45 T } f—— 40 —— 4.8
0.2 - - 34 — | T
ol %2 | E39-R37-CA _— = 48
i ountin racket I
| s l ¥ 9 s Reflector [ i
i |<13.7|
995 11-| Adhesive tape side 87 137, Eight, Rt *n-(m)
5 y _ N
M:g.s i 16~ Two, 3.2 dia. : T < BT T 60 52 40
- } ‘ i 23 1 .31@.2 18.3 23
f / | 7
418254 Two, 34.8 38 -5 ~ ] / NReflector: 10.5 PN
i M3 M . Twd, 3.1 dia. Two, R1.55 (adhesive tape side) \;7
=+ | ial: Mountini
04 12 5 Materl_al. . Brackel:gt 0.5
e Stainless Mounting plate: stainless steel (SUS301)

ppore Steos | Reflective surface: acrylic

Note: The reflective plate and mounting plate (1) come as a set.
Reflectors only for E3T-SR4[].

Retroreflector for E3ZM-B
E39-RP1 44 8.5

Reflector
I <
Two, 3.5 dia.

OMmRON




E39-L/E39-S/E39-R

E39-RS1 E39-RS3
E39-RS1-CA *1 E39-RS3-CA *1
’-—35—»‘ —~f-05
—
e | ‘ " o0
Fo:}r R1 gdge:'i&’: T
Material: Acrylics ' pes!
E39-RS2
E39-RS2-CA *1
70
40 »Hk 0.5
35 - ) o N \Adhesive
Material: Acrylics Four, R1 tape side
. = o \ \ Adhesive
Material: Acrylics Four, R1 tape side
E39-R12/R14 *2 Esiv_b:t“ E39-R13 *2
w5 g e
29 A:,%) MR S . RN
e i T TS
W [l _W # ‘/ T T i‘ T
ot ] L .E%\\ *ho\"" 7 4 T
K7 T e e
/\*“cfb L | @,
E39-RS4 *2 E39-RS5 *2
04
A .4 i
195 [
46

2

1 ]

\

Adhesive
tape side

Adhesive
tape side

*1. Models ending in the suffix “-CA” are reflectors only for E3T-SR4L1.
*2. These Reflectors are for E3C-LDA-series Sensors. However, the E39-R12 can also be used with an E3Z-LR[] Retroreflective Laser Sensor.

OMmRON

[MpOoManeKTpPOHUKa

sales@prom-elec.com



magic




